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QUESTION 1

What is an advantage of using Multi-Index scan?
A. Multiprocessor support

B. Multiple disk drive support

C. Index keys are stored in compressed format
D. Less indexes need to be defined on a table

Correct Answer: D

QUESTION 2

Which of the following statements about the level of compatibility between the backups produced by ontape and ON-Bar
is true?

A. You can create a backup with ON-Bar and restore it with ontape, but not vice versa.
B. You can create a backup with ontape and restore it with ON-Bar, but not vice versa.

C. The respective backups are not compatible; you cannot create a backup with ontape and restore it with ON-Bar, or
vice versa.

D. The respective backup tapes are compatible; you can create a backup with ontape and restore it with ON-Bar, and
vice versa.

Correct Answer: C

QUESTION 3

In which case would an Enterprise Replication (ER) solution be needed over a High Availability Cluster?
A. Servers are running different versions of Informix.

B. Data is being replicated between more than two locations.

C. The Linux operating system is being used.

D. An entire database needs to be replicated.

Correct Answer: A

QUESTION 4

Which disposition type is not allowed withthe ifxclone utility?

P2090-068 Study Guide | P2090-068 Exam Questions | P2090-068 Braindumps 2/4


https://www.pass2lead.com/p2090-068.html
https://www.pass2lead.com/p2090-068.html
https://www.pass2lead.com/p2090-068.html

P 2L d https://lwww.pass2lead.com/p2090-068.htm]
aSS ea 2023 Latest pass2lead P2090-068 PDF and VCE dumps Download

—— https://Pass2Lead.com

A. rss

B. er

C. Blank.
D. sds

Correct Answer: D

QUESTION 5

In which of the following scenarios is Informix the best fit?

A. Applications with variable and dynamic data records.

B. Large data warehouses requiring cubing and complex multi-dimensional queries.
C. Applications requiring dedicated hardware as part of the solution.

D. High-transaction OLTP workloads.

Correct Answer: D

QUESTION 6

A developer is writing an embedded SQL application written in C. What software does she need to develop and test the
application against a remote Informix database?

A. Informix Client Software Development Kit (CSDK)
B. IBM Data Server Client

C. IBM Data Server Driver for ODBC, CLI, and .NET
D. Informix ODBC Driver

Correct Answer: A

QUESTION 7

What is the smallest unit ofphysical I/O in an Informix server?
A. Chunk

B. Extent

C. Page

D. Dbspace
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Correct Answer: C

QUESTION 8

What is a feature of the architecture of Informix?

A. Limited extensibility capabilities

B. Fan-In and Fan-Out parallelism

C. Synchronous 1/O for fast read-ahead

D. Process-based with minimal use ofmultithreading

Correct Answer: B

QUESTION 9

By default, who is granted access to the sysadmin database?
A. Nobody

B. PUBLIC

C. The Informix user only

D. root

Correct Answer: C

QUESTION 10

Which of the following configurations would suggest that an Informix server is tuned for a DSS workload?

A. PDQPRIORITY is set to the value "HIGH".
B. There are more transactions than queries.

C. Database or table logging is turned on.

D. A task is configured to capture Checkpoint data every two hours.

Correct Answer: A
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